MAHARAJA SURAJMAL INSTITUTE

AUTHORED& EDITED BOOK /CHAPTERS PUBLICATION LIST

s.no	NI C		D I. T.4I.					Publisher Name
	Name of	Chapter Name	Book Title	_	Nation	Y ear	ISBN No.	Publisher Name
	faculty			r/Book	al/			
					Interna			
					tional			
	Ms. Minal Dhankar		Navigating New Horizons: Unraveling the Challenges, Ideas and Teacher Perceptions in the Implementation of NEP 2020	Chapter	National	2023	978-93-5747-312-5	Iterative International Publishers
	Dr Poonam Beniwal	N/A	Burnout of teachers working in secondary/senior secondary schools	Book	National	2023	9789355104588	Bookman
	Dr. Arti Bahuguna		Role of Faculty in Effective Implementation of NEP2020	Chapter	National	2023	9789355100597	BOOKMAN
	Dr. Monika Singh	Responsibilties and Role of Teachers in the implementation of NEP2020	Responsibilties and Role of Teachers in the implementation of NEP2020	Chapter	National	2023	9789355100597	BOOKMAN
	Dr. Shavita Deshwal	Internationalization of Education In India: Exploring Trends, Challenges & Strategies for Global Engagement	Navigating New Horizons: Unraveling the Challenges, Ideas and Teacher Perceptions in the Implementation of NEP 2020	Chapter	National	2023	978-93-5747-312-5	Iterative International Publishers

6	Dr. Supriya Chhikara	N/A	Employee Grievances, Redressal and Settlement in Indian Industry	Book	Internatio nal	2023	978-93-93810-93-9	Empyreal Publishing House
7	Ms. Priyanka	An empirical investigation of capital structure in Indian FMCG sector	An empirical investigation of capital structure in Indian FMCG sector	Chapter	Internatio nal	2023	979-8852125637	Liberation of Creativity Navigating New Frontiers in Multidisciplinary Research"
8	Ravinder Singh	N/A	Recent Trends, Technologies & Application od Artificial Intelligence and machine learning	Book	Scientific Internatio nal Publishing House	2023	9789357574440	Scientific International Publishing House
9	Dr. Ajay Phogat	N/A	Evolution beyond pioneering science & technologyfor tommorow	Book	Internatio nal	2023	978-81-19481-24-8	Empyreal Publishing House
10	Dr.Seema Shokeen, Dr.Pooja Singh, Ms.Aanchal Dabas	N/A	Entreprneurship Development	Book	National	2023	978–81–7852–226–5	JSR Publishing House
11	Dr. Dimpy Sachar	Disruptive Artificial Intelligence and Sustainable Human Resource Management: Impacts and Innovations	Disruptive Artificial Intelligence and Sustainable Human Resource Management: Impacts and Innovations	Book Chapter	Internatio nal	2023	Electronic ISBN:9788770229906, Print ISBN:9788770229913	River Publishers

12	Ravinder Singh	Effect of multimedia in Education: A Review	Effect of multimedia in Education: A Review	Chapter	Internatio nal	2023	979-8852125637	Eudoxia research centre
	Dr Anshu Lochab,Dr Beena Devi,Dr Preksha Dassani	Shodh Chintan-Research insignts from Emerging scholars	Shodh Chintan-Research insignts from Emerging scholars	Editted Book	National	2023	978-93-91044-67-1	Imperial publications
	Dr. Shruti Balhara		Shodh Chintan-Research insignts from Emerging scholars	1 paper in Editted Book	National	2023	978-93-91044-67-1	Imperial publications
	Ms.Mahima sharma	New Education Policy 2020 –Transformational Reforms in Education	New Education policy: Analytical Study	Editted Book	National	2023	978-91-89764-43-9	Red shine Publication
	Ms. Mahima Sharma	The Law in flux: Recent Legal landscapes	Contribution of commercialization of IPR in Indian economy.	Editted Book	National	2023	978-93-5996-341-9	The lawway with lawyers
	Ms. Mahima Sharma	Education: Various Dimensions	environment Education	Editted Book	National	2023	978-93-5879-606-3	Red shine Publication
	Dr. Menal Dahiya, Ms. Nikita Malik	Beginning wih Digital Marketing	Beginning wih Digital Marketing	Book	National	2023	978-93-94336-41-4	JSR Publishing House
	Dr. Menal Dahiya, Ms. Nikita Malik	Advances in Data Wrangling & it's Principles: Concepts, Applications and Tools	Essentials of Data Wrangling	Book	Internatio nal	2023	978-1-119-87986-2	Scrivener Publishing

20		Innovative Educational Approaches:Charting A Path Ahead	Innovative Educational Approaches:Charting A Path Ahead	Book	Internatio nal	2023	978-81-19585-19-9	Parab Publications
21	Dr Arvind kr Gill	School Leadership	School Leadership	Book	National	2023	978-81-89463-70-0	Kala Mandir
22	Ms. Mahima Sharma	Criminology and Victimology: A Multidisciplinary Approach	Forensic Sciences in Criminology and Victimology	Book	Internatio nal	2023	978-93-5747-247-0	I I P Iterative International Publishers
23	Dr. Monika Tushir	Income Tax Law and Practice 2nd Edition	Income Tax Law and Practice 2nd Edition	Book	National	2024	978-93-94336-81-0	JSR Publishing House
24	Dr. Monika Tushir	Digital Marketing 2nd Edition	Digital Marketing 2nd Edition	Book	National	2024	978-93-94336-89-6	JSR Publishing House
25	Dr Kusum	Shodh Chintan-Research insignts from Emerging scholars	Justice for Kashmiri Pandits: A study	Book	National	2023	978-93-91044-67-1	Imperial publications
26	Ms Priyanka	Shodh Chintan-Research insignts from Emerging scholars	Critical analysis of life of farmers in India	Book	National	2023	978-93-91044-67-1	Imperial publications
27	Ms Nisha Tokas	Shodh Chintan-Research insignts from Emerging scholars	A logorithmic Trading strategies with machine learning with ROBO-trading	Editted Book	National	2023	978-93-91044-67-1	Imperial publications
28	Dr Shruti Balhara	Shodh Chintan-Research insignts from Emerging scholars	Customer satisfaction from E-banking Services Of HDFC Bank	Editted Book	National	2023	978-93-91044-67-1	Imperial publications
29	Dr Ruchika Gahlot	Shodh Chintan-Research insignts from Emerging scholars	Impact of Financial Technology on tradional banking	Editted Book	National	2023	978-93-91044-67-1	Imperial publications

30	Ms Ruchi Kalia	Shodh Chintan-Research insignts from Emerging scholars	Navigation the social sphere:a comprehensive Analysis of social media advertising from the persepective of Gen Z	Editted Book	National	2023	978-93-91044-67-1	Imperial publications
31	Dr Promila Dabas	Innovation and creativity: embracing NEP-2020's holistic approach	Fostering collaboration and teamwork: fuelling creativity in children	Editted Book	National	2023	978-93-91-654-28-3	EZ Education
32	Dr. Dimpy Sachar	Disruptive Artificial Intelligence and Sustainable Human Resource Management: Impacts and Innovations	Impact of Artificial Intelligence in Promoting Teaching and Learning Transformations in Education System	Book	Internatio nal	2023		River Publishers
33	Dr. Kirti Dahiya	Managing Human Resources with a Legal Framework	Labour Laws in India: Then and Now	Book	Internatio nal	2023	978-81-954542-8-0	Alborear (OPC) Pvt. Ltd.
34	Dr. Anamika Rana	Digital marketing	Digital marketing	Book	National	2023	978-81-952917-9-3	Maximax Publishing House
35	Dr. Anamika Rana		Integration of IoT, Fog-and Cloud-Based Computing- Oriented Communication Protocols in Smart Sheet Forming	Chapter	Internatio nal	2023	9781119986454	John Wiley & Sons (SCOPUS INDEXED)